H £ 0l & AF & S

Al A

FA: Aot AE A
S A 2 32
Chelr HAr2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Aot=EAI A 39,554,770 41,482,413 A1,927,643
= 13,853,000
[ 700,000
= 6,290,000
Ea 18,711,770
et 32 15,000 26,050 A11,080
A2 15,000 26,050 A11,050
EA=X2 15,000 26,050 A11,050
201 2egh=3| 15,000 15,000 0
02 35244l 15,000 15,000 0
OFAL & 283 FXl2cl 15,000
a2 8,351,371 6,464,671 1,886,700
[ 700,000
= 4,658,000
Ea 2,993,371
SN LarEo HEY 52 7,450,000 5,570,000 1,880,000
[ 700,000
= 4,415,000
= 2,335,000
SHEdEEFNL(RSXF) (HEAY) 2,000,000 2,000,000 0
= 1,700,000
[Ea 300,000
401 AIEHIX R0 2,000,000 2,000,000 0
= 1,700,000
o 300,000
01 AlZ2H| 2,000,000 2,000,000 0
OLNSKT XgaE SHAL(HE) 2,000,000
== 1,700,000
o 300,000
SOHEYSESFNL (DX F) (B EALY) 2,000,000 0 2,000,000
= 1,700,000
= 300,000
401 Al HIZ 2018 2,000,000 0 2,000,000
= 1,700,000
Ea 300,000
01 A28l 2,000,000 0 2,000,000
OGN T XNgat=r SHAIL(HE) 2,000,000
=S 1,700,000
s 300,000
SHEUE S HEMS (S (ZEAY) 500,000 0 500,000
< 425,000
= 75,000
401 Al HIZL 01| 500,000 0 500,000
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FA: Aot AEA
ma: AaT
el sOHEXNGNEYSE AEH 55 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A2E2sEAE 2 140,371 140,371
201 er23 | 137,371 137,371
01 At2teltl 137,371 137,371
O==ZZAltHI 137,371
OXIgt=2&=ZAHI (111 E =)
89,250 x1580H & 14,102
OAZ+RA =2 A (BHE=R)
45,0003 157K %22 1,350
OHBAASZ A (OHES)
318,2503 1501 A& 4,774
ODISA+T 2 A (S8HE =)
375,800 * 1587 A 59,377
OIS A+ E A (1UHE )
75,570 %1580 2+32] 35,821
Oltsa=E2Z Al (2tEESR)
53, 1403 ¥ 1430 #2353 15,199
Oltsa=ZZAH(Retsgs)
1,270 #1430 2 %42 6,447
Ot =H==ZZAHI(THE=R)
30, 10021 %20} 253 301
206 Tl 3,000 3,000
01 W=H 3,000 3,000
ODISA=CLEANR 2P+ 2
100,000 »202 A 2,000
oltst+E ASAZTFY 1,000
AR EEEAENESASE 150,000 170,000 /20,000
401 AIEHIZ SR 0HYI 150,000 170,000 /20,000
01 Al&HI 150,000 170,000 220,000
OATAZF=TAIE HEFAY 50,000
Od =&l FAl2c 100,000
AR 25 L25 AIE HSAIE (HEAIY) 300,000 300,000 0
= 210,000
o 90,000
401 Al HIZ S OHbI 300,000 300,000 0
s 210,000
s 90,000
01 Al&HI 300,000 300,000 0
OAHES=EC-Z3AIE NSAIS (M EH 300,000
[ 210,000
T 90,000
A2 AIE RS2 ALY 110,000 83,300 26,700
= 33,000
[Ea 77,000
401 A& HIX R0 110,000 83,300 26,700
= 33,000




SN Yot A A
Zu: gazl
&t sHENGIISdsE AEH 35 (SH &)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
[ia 77,000
01 Al&HI 110,000 83,300 26,700
O A AE2CIALE 110,000
S 33,000
a 77,000
Jlzdsolmet(MetsSa) (MEAY) 200,000 200,000 0
401 AlIEHIZL 2 0HY| 200,000 200,000
01 Al&H| 200,000 200,000
O=&E=2 MEZ4 NLAL(HE 200,000
ST HE2Y 1,000 1,000
203 BR=EH| 1,000 1,000
03 Al F=AIH 2= 1,000 1,000
Oa=k 23 QI Z 1,000
330t 2tel 22,607,228 29,383,117 26,775,889
= 13,853,000
S 1,632,000
s 7,122,228
ot=E2d E 2t 589,228 573,117 16, 111
DEMEE S 22 (HE XL X2l Ar) 243,238 221,843 21,39%
101 @124H| 76,888 84,648 AT,760
04 JIRHHIZ2Z2REE S 76,888 84,648 AT,760
OndHdEstsa 22l 22 A 12| 76,888
oJ12= 2,060,740 +2F 122 49,458
Og Rt 78,8802 112 1,736
OAIt22+4
9,800& *1.5+8A| 2Hx2H +52== 12,306
@ZIN k= ¥=3 63,500,000 »13% 8,255
OISES=, 78,8803 x30 2 x2H 4,733
OctaAzeIH(257 §)
200,000 2 400
201 ZEeH23 ] 160,350 137,195 23,155
01 AFS2t2ltl 34,400 32,760 1,640
Ot~ 34,400
OARES 7¢ 100,000& « 122 1,200
ORogHIEY e+
130,000« 122 1,560
O&Jerrze| =2
300,000 122 3,600
OIEAI 1 EH] EIIH A2
600,000& *12] 600
OsZltd e |3
130,000« 122 1,560
O&ZIIHIIEMN=2E
200,000& *12] 200
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FA: Aot AE A
Hu: 2osl4T 22
2ol o2 & 2el (Gt H2)
SA - ZE - B2(30) - HRAS of v e HIDE2
@) d=s= wiE=1=mE=
80,0002 +6CH*13] 480
Ostdd 2258 7 100,000& * 122 1,200
Od==¢ 70,0003 * 122 840
OFEAL EaxE88 7 100,000« 12& 1,200
O0E &x 24 1,830,000& «12& 21,960
2 s5=34l 125,950 104,435 21,515
0332 € AMAl 68,420
Oo8IIR3 5,500,000& «12& 66,000
Odote=ER= 150,000« 12& 1,800
Odlgt 2= 35,0002~ 12 420
O&J|IHME 2] 100,000 12 100
OA NS 3] 100,000 12 100
oozt 210
OHIAFI|(ZR) 1,70024+60 ¢ 102
OUIIE 92 PU(5YR)
1,800&*60 ¢ 108
OO0t2IAIZ &l 7l 57,320
Ostdd 2| RXl&ec| 94|
280,000 * 122 3,360
ON=ZY 2,000,000& #52 10,000
OJIA & MI1&dl =Al&eldl 3,000
—HUXES ¥ 2SS KA
100,000 *10H 1,000
—HIINE |2
80,0002 *5IH+55 2,000
O==2 FA2c 40,960
—= A2 S 1,830,0002 * 12& 21,960
—=52 R 2,000,000& *23] 4,000
—EIX&H| |2 500,000 ~4CH 2,000
—==2 24| |2l 1,000
—2ei0uD] Ha 12,000
206 MH=H| 5,000 5,000
01 M=4l 5,000 5,000
Odtisis2 0lF 7 5,000
405 AtatE=H 1,000 1,000
02 =A bl 1,000 1,000
Odtisis2 St =A 7
20,000& »502 1,000
DEUEsEs2 A 82,000 182,000 100,000
401 AlEHIZ 2018 82,000 182,000 100,000
01 Al&H| 82,000 182,000 100,000
O0t2l =2 & FX LI A
21,000,000& x 14 21,000
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FA: Aot AE A
Hu: 2osl4T 22
2ol o2 & 2el (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=tiHEZ FHI(ASD])
22,000,000& »14] 22,000
S3ot=XelAld 22 108,850 74,481 34,369
101 @1A4H| 101,176 67,111 34,065
03 SRA(RIH )22 U2+ 69,884 67,111 2,773
OF=sAd 3SR 2= 69,884
OJI28(43) 3,342,500~ 128 40,110
OS¢ 150,000& 12 1,800
oXgdd=+g 140,000 122 1,680
OfIg=¢g 100,000& * 122 1,200
Ootgl &S| 50,0002 122 600
Og=ed=g 145,350 * 122 1,745
OAIZIeIRR4E
3,927 ,850& /226%1.5+8+525 10,846
OIEse 40,0002 128 480
Odxt=& 3,927,850& /226+8 Al 2Hx20 2,781
od2=g 3,927,850 x50%*22] 3,928
Og&ESItd| 3,927,850 x60%*23] 4,714
MU IIRIMZZENSES 31,292 0 31,292
O1dE3ot=xelAlE 22l 22X 21AH| 31,292
OoJlzs 2,060,740 «1E 128 24,729
Odxt=g 78,880 x 1811 868
o= 25,596,560 *13% 3,328
O&lx= 78,8802 %3021 2,367
4 HASFEESS 7,674 7,370 304
04 SR (RIH)22N BEE=2RES S 7,674 7,370 304
OS=AE BARSX 22T BERFLS 7,674
ONELEHERES 69,881, 1002 *1.8% 1,258
Ot EE = 69,881, 100& +0.982% 687
O=uH=Rg=s 69,881, 1002 *4.5% 3,145
O=UABEES 69,881, 1002 *3.495% 2,443
OklRAEE= 2,443,000 #5.76% 141
ot=X |l A 9,463,000 20,599,000 211,136,000
= 6,624,000
=S 1,417,000
s 1,422,000
8F—+—5¢_9| A1 ¢ Zel(soEDSo==SF ) (FoAXI A 6,222,000 2,000,000 4,222,000
o<
= 4,355,000
= 933,000
o 934,000
401 AIZHIX 20HH 6,222,000 2,000,000 4,222,000
= 4,355,000




2A:
X XH -
o e

=aak

o 0 0
1 0p o
2 0

&g
03 H1 =
R

i
S

=
R

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

A H

933,000
934,000

01 A=l

OFAXI Zoli S s0EDIS0+5

x
pal
=
R

02 Zteltl

OFPAXI ESH Y sH=0tSot=SETAIE 2

cltl

HH W

HoH W

6,022,000
6,022,000
4,215,000
903,000
904,000
200,000

200,000
140,000
30,000
30,000

1,899,000

100,000

4,123,000

100,000

Mo W

1,464,000

—

,025,000
219,000
220,000

215,000

1,249,000

401 AIZHIY 20

HH W

—

,464,000
,025,000
219,000
220,000

—

215,000

1,249,000

HoH W

1,464,000
,464,000
,025,000
219,000
220,000

—_

215,000

1,249,000

HH W

555,000

388,000
83,000
84,000

218,000

337,000

401 Al HIZL S 0HYI

Mo W

555,000
388,000
83,000
84,000

218,000

337,000

01 AlZHI

OdHEs0HEDNSo==E XM

OdEsHENSH=ZEXAE Zeld

MW

W

497,000
497,000
347,000
75,000
75,000
58,000
58,000
41,000

218,000

279,000

58,000




FA: Aot AE A
Hu: 2oslLT 22
s ol=XCIEAISE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 8,000
2 9,000
Stecol MX Y 22l(S0EDS SHEEHIAMY) (S 597,000 237,000 360,000
)
= 418,000
== 89,000
= 90,000
401 Al HIZL 201 597,000 237,000 360,000
= 418,000
< 89,000
Ea 90,000
01 Al&HI 597,000 237,000 360,000
OBAsHELISOI+ZE XA 597,000
= 418,000
== 89,000
o 90,000
St=Eol EX1 & 2l (HER Sh=SFHIAY ) (E4H) 625,000 429,000 196,000
= 438,000
s 93,000
s 94,000
401 AIEHIZ SR OHYI 625,000 429,000 196,000
= 438,000
= 93,000
o 94,000
01 A28l 553,000 429,000 124,000
OF LK 7 HERot=X IS XA 553,000
= 388,000
= 82,000
[Ea 83,000
02 Zcll 72,000 0 72,000
OF &7 HHLOI-=XICIZERAE Zel
] 72,000
= 50,000
= 11,000
[Ea 11,000
Ot==2t H AN 12,555,000 8,211,000 4,344,000
= 7,229,000
= 215,000
Ea 5,111,000
EPTEQI X 2 2l (35 ot22 28 FHIA 328,000 1,032,000 A704,000
(o5
= 229,000
= 49,000
[Ea 50,000

<o)
|




FA: Aot AE A
Hu: 2oolLT 22
Rl ol AL (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 328,000 1,032,000 A704,000
= 229,000
== 49,000
[Ea 50,000
01 Al&HI 328,000 1,030,000 A702,000
O3|3tHol=2 228 H ZHIAHY 328,000
= 229,000
=S 49,000
s 50,000
St=o #X ¥ 22(SXF Gt=2t2 ZHIAIY 833,000 0 833,000
= 500,000
=S 166,000
s 167,000
401 AIEHIZ SR THYI 833,000 0 833,000
= 500,000
= 166,000
Ea 167,000
01 A28l 833,000 0 833,000
ONFH SLX7 ot+=2Z HHIAL 833,000
= 500,000
= 166,000
= 167,000
St X & 2e(ZAIE=UE) 8,581,000 4,675,000 3,906,000
= 6,000,000
s 2,581,000
401 AIEHIZ SR THYI 8,581,000 4,675,000 3,906,000
= 6,000,000
[Ea 2,581,000
01 Al&H| 8,381,000 4,475,000 3,906,000
O&stAl 7 ot==dHl S82clXF E==0
ALY 8,381,000
= 5,860,000
= 2,521,000
02 Zaltl 200,000 200,000 0
O&E 7 o=l SH22XNSE =0
A Zeld 200,000
= 140,000
o 60,000
St=o #X & 2e(EZAIF==US)(BHEXIF) 833,000 500,000 333,000
= 500,000
= 333,000
401 Al HIZ 2018 833,000 500,000 333,000
= 500,000




FA: Aot AE A
3 S3ot= 2el
el k2 HAN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 333,000
01 AlZ2H| 700,000 500,000 200,000
OtfEX ot HHISE AN A& 4012
At 700,000
= 420,000
[Ea 280,000
02 Zeltl 133,000 0 133,000
OHEXI PO+ EZHISH 2K S ES0Y
Argd Zielsl 133,000
= 80,000
Ea 53,000
SHot=EHIALY 1,680,000 50,000 1,630,000
201 et 3| 90,000 0 90,000
01 AtR2te|HI 90,000 0 90,000
OA7E dt=XclAld & ot2tZ2 HES
A RItA BE =538 90,000
401 Al HIZL 201 1,590,000 50,000 1,540,000
01 Al&H| 1,590,000 50,000 1,540,000
Oot=2Z2FHIAIY 150,000
Oot=2 2 4 XAt 220,000
OK2IXI7 ote2tZ EXIALE 120,000
Ou=17 ot=2Z LI 100,000
OdteXelANE JlsdHEY 1,220,000
Os&otrdtz Jl=dt 1,000,000
O3Sot=HMelAlE Jl=dt 220,000
Bi=&Hl HZ A 300,000 0 300,000
401 AIEHIZL SR THY] 300,000 0 300,000
01 Al&HI 300,000 0 300,000
Ot &8 JIE+-2Z HZAY 50,000
OSH &8 JIE+22 AZAY 50,000
OF= ti+&8l JIE+22 HZAY 50,000
OFS &l g2 AZAY 50,000
OulE ti=&Hl II82+-22 HBAY 50,000
O35t (2E ) ti=&H] MtE 22 AZAL
e 50,000
HH 23 76,084 64,288 1.,79%
23| (&ot= T AN A) 76,084 64,288 11,796
HYFZ B 4,800 4,920 A120
203 =4l 4,800 4,920 A120
M FA2ELRFAI 4,800 4,920 A120
ORNSHERF=AHI 400,000 123 4,800
Lot2Ad| 43,684 29,368 14,316
201 er23 | 43,684 29,368 14,316
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FA: Aot AIEA
I dH2Z 3
el D12 3HI( Yot At ) (CHe: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 30,844 23,626 16,218
Ogt+==H| 16,804
ORAMEg JIZ2+EH| 6,000
o=gll &EH #¢ 1,000,000 *32] 3,000
OYNBET 2Ll L AIEH)
200,000 *22] 400
O=AEXNFY 30,0003 52 Ax 123 1,800
Od+=+g 150,000 122 1,800
Od2+Il &= 15,0002 *11CH* 122 1,980
O&=Jl = 55,000 =20 =122 1,320
Ol gxtz 21,0002 ~2CH+ 12 504
o23+¢ 18,720
O Al 60,0002 72! 4,320
O=2| 60,0003 x240& 14,400
ORAM2Y J=2=EH|
8,000& x 15341 12& 4,320
2 s5=34l 3,840 5,742 1,802
OZ2Z22=ZHAl 3,840
Odol=ZAIE= 250,000& * 128 3,000
OeleHgER=s 70,0002 122 840
O] 27,600 30,000 A2,400
202 04l 27,600 30,000 22,400
01 2LHoIH 27,600 30,000 2,400
O=LHxHI 27,600
NP S (Aot A A) 8,505,087 5,544,287 2,960,800
WRHeHXIE (MG = A L) 8,505,087 5,544,287 2,960,800
d-ESIIBSEIH HES 3,500,000 3,500,000 0
701 JIEHRIHSEES 3,500,000 3,500,000 0
2 SILSEANHHHES 2,500,000 2,500,000 0
O3IILSE3H HES(AMHIZ) 2,500,000
OZda=E F=784| 2,500,000
03 SVIHEEIAN=HES 1,000,000 1,000,000 0
O3S M= (MHE2HXE) 1,000,000
OXlgat=E AMZSEAY 1,000,000
TEIHHSEIINEES 44,287 44,287 0
701 JIEHRIHSEES 44,287 44,287
01 JIE=I AN ES 44,287 44,287
O+ZMESEINHES 44,287
Oltst?ISESot=xclAIE2 3| 44,287
oS IESEIHTES 4,960,800 2,000,000 2,960,800
701 JIEtRI NS EHES 4,960,800 2,000,000 2,960,800
2 SIIEEEHNBYEES 3,008,000 1,000,000 2,098,000
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SN ABHEAY

Ha: XH‘:'QFE( 8+¢5A+g¢)
Sl LIS XI & (MBS ARA) (ol 29
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot 05”55 HR=2
OZIIHEEIHITEZ2(ZAXE) 3,098,000
03 BIIHELEFHNEEEZ2 1,862,800 1,000,000 862,800
O2J|gEEIIHEES2(N=EXS) 1,862,800

_13_



